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Note : First 15 minutes are allotted for the candidates to read the question paper.
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Instructions : (
_ ' o)
i) Allquestions are compulsory.
ii) Illustrate your answers with labelled diagrams, wherever necessary.
ni) Marks allotted to each question are mentioned against it.

( wfereda v )
{ Multiple Choice Type Questions )
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L. Choose the correct option and write in your answer-book :
a) Exine layer of pollen grain is made u;; %J:f
i} Celluose i) Pectin
iii) Sporopollenin iv) Xanthophyll 1
b) Which one of the following is not a stc;B terminator codon ?
)  UAA i) UAG jmy UGA iv) AUG 1
¢} The exaggerated response of the 1mmune system to certain antigens present in
the environment is called
i) Allergy i) Disease | i) Leukaemia iv) Allof these 1
d) PCR stands for
i}  Polymcrase chain reaction - 1) Polymerase chain reproduction
iiij Polymerase chain recombinant 1v) None of these 1
(3 e i)
( Very Short Answer;'!jpe Questions )
2. %) wegem 3 R w S R R e € 7 L
Q) wwmmmﬁhmmﬁéﬁ%i | 1
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2. a) What are the finger-like projéctions on the edges of the infundibulum called ? 1
'

e

b) Name the flower which shows incomplete dominance. ' 1
¢) What is double fertilization ? - 1
d) If the sequence of one strand of DNA is written as follows : 1

§
Yo 4

5/ -ATGC ATGC ATGC ATGC ATGC ATGC ATGC-3',
| Qo

write down the sequence of complementary strand in 3! 5' direction.
P)

o WhatdoesELISAsandfor? 1
(g 37T WA -1 )
I{ Short Answer Type Queétions-l }
3.var)/:cﬂmaﬂtmﬁ:ﬁaaimmll ~ 2
‘ﬁ(mwamwﬁqﬁmm%ﬁaql 1+1
) dfew s dxdifen % & v w foi | 2
8y i 7 fagecht el 1 wifeq F S | 2
) wRRmdImEIEERE? = 2
i
3. a) Write the difference between DNA ang‘}]QNA 2
b) Define population and community. 1+1
[ Tum over
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c) Write two useful functions of Lactic Acid Bacterna (LA).
-
Ny : 2
d) Draw well labelled diagram of DNA double helix model.
3 2
e) What do you mean by metastasm__?
(o I -1 )
( Short Answer Type Questions-ll )
s ; a7 2+1
4. @_}/'W%WWW@WW FfT |
@y wERe frem 3 @ 1 e lwﬁﬁh%amm%ﬁﬁ@ AR
1% + 1%
Ty AR e mﬁm@ﬂaﬁnﬁ@mﬁmaﬂh?ﬁﬁm 3
C
& S et 1 g 6 wgE FTON &1 0 HAC 3
4. a) Describe the structure of human sperm with a well-labelled diagram. 2+1
b) Explain the causcs of Klinefcltg}’s syndrome. Also mention the symptoms of
this syndrome. 1% + 1%
¢) Describe the important enzymes required for genetic engineering,. 3
d) What are the major causes of the loss of biodiversity ? 3
— .
s @) e g d R g 3 - :
& H el § UR-TTT B Tl ¥ 7 FRO AN | 3
§) 37-34w & 3 7 fHER G 8 SN ¥ O
- w fm s 6 od w3 6 e @

p—

R

)

8013

4

W%?%wﬁ%%@mmw%? :

mmw%?uﬁm%ﬁﬁ_mmmwaam%mgamﬁm 3

P i & ol A o i 5 11
e ]1/2 + 17

() wedfam i) A ~
” | . (i) weafifera |


https://www.upboardonline.com/

b)

d)

5 348(KJ)

What are cleistogamous flowers ? Can cross-pollination occur in cleistogamous

flowers ? State the reasons. . 3
t
‘ . N Il

What is biofertilizer ? A farmer is advised to add a culture of which

bacterium before sowing ? How is this bacterium useful to the crop ? - 3

What is gene therapy ? Illustrate this using the example of adenosine

deaminase (ADA) deficiency. - 3

Define any two of following : 12+ 1'%
(i Commensalism

(1) Logistic growth
(iii) Parasitism. _ r

6. memﬁm@ﬁﬁﬁmi 3
) R & weifi o g e R S A 7 3

8013

) 3R 3 ad (ara) & IR % q1Y HEIehIaT S qui HIfT | 3
By 39T ErrE! afta s gig 9 w1 fawga avi Hif | 3
6. a) Write the important goals of Human Genome Project (HGP). ' 3
b) How does the production of inslun take placg in genetical.ly modified
organism ? c 3
¢) Describe mutualism with the heIp of wasp-fig relationship. 3

d) Describe in brief, the exponl*:htial growth curve with the help of suitable

';_u

example. 3
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( Long Answer Type Questions )
-.. a 5
(i
' Yg % T3 @1 T HI | '8y
7. fol e O G
Fuan )
: 2954,255
frffaa o & el @ w aftw foooft ifsre -
: : l
() TETAgH (i) T i) ferge
- : 5
7. Explain the formation of Embryo sac with the help of diagram.
OR
' - 2V + 2%
Write short notes on any of two of the following :
() Red Data Book (i) Pollen grain (iii) Emasculation.
é/,.@ﬁmm%aﬁmuﬁmm@ﬁﬁﬂ@aﬁﬁaﬁmﬂ | 5
-
Hif | 7
(1
FI D )
()
aeff-r wa o1 At wfeE 9o i | 8 s ¥ wvar e g fae e fred @
! Y.
fafgd | https://www.upboardonline.com 2% + 2%

8. Trace the events that would take place in flowers from the time of fall of pollen grain

on stigma up to completion of fertilization with the help of diagram. 5
| or(_

Describe the Hershey-Chase experiment with labelled diagram. Write the conclusion

drawn by the scientists after this experiment. Ve + 2V
am faflag | (é, 2+2+1
Foga

ol
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i whabea & fererse ot H1 e W i Reoft R | wree ok & Ryt v
fomprse STl w1 avi SR HiRd AT |

8013

0 +3


https://www.upboardonline.com/

7

9. What is Biogas ? How is it produced _%Namc the microbe involved in biogas
O
oo 2424+
n
£0)]

OR3)

productinn.

Write a brief note on the role of lymphoid organs in the immune response. Elaborate

the different types of lymphoid organs in human body with examples. 2+3

e —————
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